3/4 Ironbark - Homework: Term 2, Week 3

Each night — tick when complete Monday Tuesday Wednesday | Thursday
o Spelling — Look, cover, say, write, check
o Maths facts — quiz yourself, out of order if you can!
o Read — pick something to read for about 20 minutes
Grammar: Circle the time connectives below, then add numbers to put this Spelling
procedure in order. C.h
[ ] Next get a mug ready and place tea bag in it. ;h'Ck
[ ] First put some water into the kettle and switch it on. g cheese
. . = chop
[ ] Then when the kettle has boiled, carefully pour the water into the cup o chew
and leave to stand. 3 cham
. . . . & P
[ ] Finally stir and add sugar if required. - pitch
[ ] After a few minutes, remove the tea bag and add milk. 3 reach
[ ] Soon it will be cool enough to drink. . touch
é speech
Maths: Write whether each event is certain, likely, unlikely, or impossible. '“n‘Ch
a
1. Aglass jar contains a total of 37 marbles. The jar has red and blue marbles. nati.?”l
(7] capita
There are 8 blue marbles. Describe the probability of picking a red marble. g natural
g criminal
: . . - L critical
2. Aglass jar contains 27 yellow marbles. Describe the probability of picking g survival
a yellow marble. ﬂlﬁ emotional
3. Aglass jar contains 29 purple marbles. Describe the probability of picking | & grltlctglflyl
7] eautitu
a red marble. e sensational
4. A glass jar contains a total of 26 marbles. The jar has yellow and blue Ot:erworfs
with my rule:
marbles. There are 5 blue marbles. Describe the probability of picking a
blue marble. g
5. A bag contains 12 blue marbles, 15 purple marbles, 16 red marbles, 15 g
green marbles, and 13 yellow marbles. What is the probability of pulling E,
out a blue or a purple marble?
Maths Facts
Personal Development: 'Feelings diary’ -
Describe at least 5 strong feelings (not ‘happy’ or ‘sad’) you experience this week: 8X)1(-8 84;_1
Feeling Cause Effect 8X2=16 16+8=2
8X3=24 24:8=3
8X4=32 32:8=4
8X5=40 40+8=5
8X6=48 48:8=6
8X7=56 56+8=7
8X8=64 64:8=8
8X9=72 72+8=9
8X10=80 80+8=10
8X11=88 88+8=11
8X12=96 96+8=12




=
[ Mathematical Problem Solving x \S\Xﬂ;l
O —
i
~ N

An electrician needs to buy 611 light bulbs.
The light bulbs come in packages of 6.
How many packages should the

OR

A bakery needs to arrange 74 cupcakes
on trays for a party. If each tray can hold 7
cupcakes, how many trays will the bakery

electrician buy? J tneed?

Draw a diagram
(Visudlise and plan)

Working out
(prove your thinking)

Number sentence
(what will you solve)

Answer in words



